00000 MO0000ooooooon 1992/2/5,12

21 000000000

OO00O0b0o0o0O0ooO0obooboooDob0ob0GEUo0OOn Riemann OO OOO0O
OO0b00o0o0b000 LiedbO7TO GO 100000D0O0O00ODOO0ODOODODOO Lied
OO0000 g0 t0DO0Ot*0D0O 1120000000000000

21.1. WeylOODOO (00 2015 000000000000 WeylOOODODOO
OO00o00dwpbvy00000 GO TO HeerOOOODOGEOOOODODO fOODOO

__ 1 a1 .
[ s g [ |aetticn —aaw ) [ statgyivg av
Oo0O00ooO0f00D0Oo0ooOon

1
fdp = — / det(1g/r — Ad(t=1)) f(£)dvt
/G W(G)| Jr r
ddoodg 2015000000000 oo oo ooog
A
dimV = H M
a€A+(G) <Oé,p>
00000000000 0000 WeylOOODODDODOOODO
21.2. JO00000C000O0OO0OO00ODODOOU0ODOO0DODOO0ODODOoOOOoOoOg
K={\et* | \NH,) >0 (aeAT(G))}

DDQDDGDDDDDDDDDDDDDDDDDDDKQA(G)DDDDDDDD
e KNA(G)OOOOe(y+p) 0 GOOODDODODODOOOOODODODODOOOOODOOO
gbbobuoogobbbudyboooobo

Che(G)r = {xlr | x € Che(G)}
ooooooO
C: KNAG) — Che(G)r;y— &(vy + p)
D0000COKNA(G)O
{xalr [V, A] € De(G)}

D000000000000000KNA(G)D De(G) 00000000000
00000 GoO0000000000M,...,A € KNAG)DDOOOOOO
Ae KNAG)DDOOO

=1

0000000N,...,A000000000000000 G0000000000
0000000000000000 Z[Xy,...,X,]00 X;0 Che(G)r0 O &N + p)
0000000000000000CO00000

C:Z[Xy,...,X;] — Che(G)r = Che(G) = Re(G)
guouoouooooaod



21.3. 0DUO0O0DOO0O LeelO0D0DOOODOOODODOODRZL20D0O00DO0
gbboogboggobuooobobuooobooboboobboobobboobn
goobooogbobobooooboboooon

47
r, = g 7———H,
a(Hy)
a€A(G)

T.={H et |a(H)e2rZ (ac AG))}

gooo
r.ctecCly,

0000000000000000 2.7300000G00000m(G)00000
00 Z(G)oooo

m(G) 2t /Ty, Z(G)=T,/t,

O0000dgOOOOODOOr,0tODOOO0ODODODOOOr,/ M, 0000000000
gUDO0OD0O0O0O00O0O0O00OD LiebOGEOOOO

r,crcr,

DDDDDDDFDDDD(}/GXp(F)D t.=10000o0googoooorogno
opoooooooor,/r,000oooo00ooooooooooooor,oooo-
0 LiedOGODOOOT, 00000 LieO0OInt(g) 00000000 DOODOODODOO
gbbobooodaobbod

rn < te C I's

G — G — Int(g) =AdG)
000 —00000goooogno ~
GDDDDDDDDD~DDDDDDDDDDDDDDGDDDDDDDDDDD
DDDDDDDDDDDGDDDDexp(te)DDDDDDDDDDDDDDDDDD
god

21.4. GO Lie000O0OKOOOO Lee0DO0O00OD0OO0OOGOOOOO M=G/KOO
OO0000 E0 Lee000O0O0OD0O0OD0ODzeMOOO0O0geGO 200 FOOO
ooo0 E00g:0000000 E,,00000000000000000FE0 M
gooboooooboobod

obhoobooboobuoobooboobbO Koobooboobooboo
000000 (Ey,7)0 KOOOOOODOOOOOKDO G x EyO

(9,v)k = (gk,7(k)"'v)  (9€G,ve EykeK)
0000000000000 00D000D000 Gx,E,0000
p:Gx; By — G/K;[g,v] — gK
O00000Gx, Ex0 pO0O0O0OD0 E,D0000O0O0ODDODOD M=G/KOOOO
000000000000 gl¢,v] =[g¢,0] 0000 Gx,ED M=G/KOOOO
0o0ddooooooon KoOooooooooo MOooooooooood
00000 MOODOOOOOO FOOODOOkKke KO MOOO oODOOOODOO
0000000y(k): B, — E,0000~(k) € GL(E,) 00005 : K — GL(E,)
0 KDOOoOOoOo (B,,y) 000000000000 Gx,E£,00000000080

FOO0O00OOoOOoOoOoOoOoOO0O0O00 M =G/KOODOOoOooOoOo0oooooooo
gbboboooobbbuooboboboooon



